ALGEBRA II
REVIEW [-1 & 1-2 Name  KEY A#

For the following relations,
list the domain & range, then state if the relation is a function and whether it is discrete or cont,

1 2) {(2,3),(3,2), (4,3),(5.2)) 3) y=x’
12 > (; D: 72,3453 D all real no.s
e
_9/>‘<\ p\: (12\?!‘5 P\: Qi real no.s
A ’; \leS, Digereke "’Q.s. continuauc

(2,0) (2) (-9,-1) (H4,3)
D Lin,~a,43 NO
M 0,71, 3% Discreke

Use the vertical line test to determine if each graph represents a function (yes or no).
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Find each value for the following if f(x) = s and g(x) = x* = 3x

7N f3y=_0 8) gn=_20 9) f(§)=i
2NV G = =66 = (Y- 3() = 203MVG . 3+6
-3 2 HA - 2 G -
- Q9 = - =y
T =3 ) 20+ G -3
10) g-5=_4Q 1) g3n=n"-9n 12) fy="3
_ L 3 o
Z -5y - -3 == - -
:(151 (33( ) (3n) 3(3n) = KQ_;Q_ -3‘-?‘35*1
= Qn*-9n
If h(x)= x* 4+ 2x° - 1, tind each value.
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Determine whether each equation is linear (yes or no).
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16) y=x"~2 N

5
=10+ =
18) y +x N

20) f(x)= %y—s Y

17) 3x+2y-4=0

'
19) 8x-73fy=11

¥ ¥
21) Y -x=1

Y

N

N

Re-write the following equations in standard form (Ax + By = C). Remember, the x-term must be
positive and there can be no fractions in your answer.

22) (8y —4x=-7) (-1}

Hy -8y =1

25) 1 ;9"’ =12 (=7

10%-Qy =36

Find the x & y-intercepts for each equation.

27) 4x+5y=40
L¥= HO 5y = HaQ

x-int=__1Q
y-int=__ 8

31) 2y-21=3x

~U=3A% NN =0
2N = 2\
x-int=__ ~— |
21
y-int= "2 or 10,5

23) y=2x-5 24) 0=3y-6x+2

peh R =2y +0x

Ix~y=5 GX -3y = X

26) L4221
D 5,10 (2)
S /‘;} = ;;‘( By+ily =14

28) y=Tx+2 30) 4x=-24

O=7Ix+ 2 N= A -{ +

_1:—!)( K= G

—

X-int = =1

y-int = 2

32) %x+5y= 10

X210 &Y =10

x-int = 20

y-int=__ 2

x-int=___Co
y-int=_DGhe

33) ‘_“5*.3= (s)

Y-&- 2= =5
\|:-—"l

x-int =_Tighe
y-int=_="1



